Sagarmal Gopa a democrat and freedom fighter
belonged to which state?

(A) Rajasthan (B) Uttar Pradesh

(C) Delhi (D) Punjab

(E)  Question not attempted

T 79T U SAehaaarel 3R w@daar a4 feg

(&) TSEIH (B) IWWW
(€) foostt (D) e
(E) raf@wy

Which of the following states were merged in the
first stage of Integration of the present Rajasthan?

Choose the most appropriate answer from the |

options given below:

(A) Bikaner, Jaipur, Jaisalmer

(B) Banswara, Bundi, Dungarpur

(C)  Pratapgarh, Shahpura, Tonk

(D)  Alwar, Bharatpur, Dholpur, Karauli

(E)  Question not attempted

AT TSI 3 ThYaR0T 3 o <o & Frfrfae
J § o Treat st anfirer foma mar am

Frferfae faeedl & & waifre Jugw I I+
(A) T, Sy, Seer

(B) e, 4, 3R

(C) SaATITg, TEY, 2ih

(E) SIRa v

Who opened almost 300 schools between 1944 to
1956 in the desert villages of Bikaner?

Choose the most appropriate answer from the
options given below:

(A) Swami Keshwanand

(B)  Acharya Tulsi

(C) Kripal Singh

(D) Komal Kothari

(E) Question not attempted .

RraY 1944 & 1956 F = diehR & Sreart nia &
T 300 TR Gie?

P faeredt 3 & warifires Fug Swg:
gy et FEES (B) Frar et

(B) IaRasd

ABC-A13] @

The first Sherpa Meetings for G-20 under the
presidency of India was held at:

Choose the most appropriate answer from the
options given below:

(A) Jaipur * (B) Surat

(C) Udaipur (D) Mumbai

(E)  Question not attempted :

9 & AT & IFad G- 20%1%11{%%
o= wel Tl it off?

ﬁnﬁaﬁaaﬁm’fﬁﬁmﬁwawgmmgﬁ
(A) AR (B) W@

(Cy” LR (D) g

(E) rafa s

Where was the 20" edition of India-USA Joint
Military  exercise “Yudh  Abhyas-2024’
conducted?

Choose the most appropriate answer from the
options given below:

(A) Odisha

(B) Rajasthan

(C) Madhya Pradesh

(D) Gujarat

(E)  Question not attempted
mmﬂﬁmagﬁﬂw IATE I AT 2024°
1 208 FERT Fel ST Rt T
Frfafa fawedt & & waifiw sogw I
(A) ifEmm B T

(C) wWHAT (D) TR

(B) orgafays

Sahitya Akademi Award winner Rajasthan Poetry
‘Mugtee’ is authored by:

Choose the most appropriate answer from the
options given below:

(A) Arjun Chawla

(B) Meethesh Nirmohi

(C) Chandrabhan Khayal

(D) Khalid Hussain

(E) Question not attempted

wift et geR i, aemuet it
el % S &
ﬁqﬁlﬁaﬂﬁw’fﬁﬁmmm T
(A) I T

Bf  how Pt

(C) RN &

(D) TfeR g

(B) STgaRa s

[ Contd...




7 Identify the perso m Rajasthan, awarded the
Sarvottam Jeevan ha Padak (Posthumously)
by the President ofgipdia in 2021.
Choose the mosrwpropriate answer from the
options given belquq L e
(A) RemaviarGeyama 00 o
(B Gyan Changry T
(C) Anil KumaD SAREEERSES
(Dy/7: Jatin Kurnat; 5 = Af-"|':’r-‘;-
(E) Question not attempted : |
3q =t Y TEEE L ST T ﬁ i o % 3
| = 2021 T wRa Wregafe g “wata e T
| qee (FROTTare) ST faRar ma am
ﬁnﬁiﬁiﬂ frredia waifis SIH I
W umaamﬁdﬂ B) TAT=
© FFmzmrl D) FFEPw

: SrafE T
(E) T s )

4 o
(/ A convex mirror is also called as |
0 Choose the mostegppropriate answer from the

options given bela

(A) Convergenmlrror
(B) Plane mirr
(C) Parabolic gror
(D) Divergent gyror
(E) Question n@battempted
sqaedoar o
ﬁaﬁ&i@ﬂmﬁﬁ aﬂgﬁmiﬁ
m.y( aﬁmﬁ zdgn (B) WHIA
© o oy I

sra\m
®), Rl

9 Name the scientfs® who proposed the Laws of

Inheritance.
Choose the mosi gppropriate answer from the

options given below:
(A) T.H. Morgan

(B) Hargovind Kiurana

(C) Newton

(D) Gregor Me

(E) Question n ttempted

grrifer 3 et amﬁiﬁaﬁrwaam
(A) A arey (B) gafa= guA
€ = Eﬂ{ IR e

(E) HIaRaH

ABC-A13] &
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12

(A

Which of the following is mot a Law of
Inheritance? A

Choose the most appropriate ans
options given below: m

from the

- AA) {‘awofAbempuon AR g S
(B) Law of Independent Assortm%

(C) Lawof ‘Segregation Y, ;I
(D) Law of Dormnance Y

(E) Questlon not attempted l \
ﬁmﬁ“{fﬁﬂﬁﬁaﬁmmmﬂﬁm@ﬁﬂﬂﬂﬁ#
-ﬁﬁri%rﬁaaﬁaﬁrﬁﬁﬁmﬁawmmgﬁ
wy” ﬁwm(qi%’mﬂ)a;rﬁm sy

(B) @ e & I g

(C) U & A 0
' (D) =1 fFam i

(Fy e AdA - ey o

™
Lud 15 o

Choose the most appropriate answer from the
options given below: 'qj‘

Fully digested food in herbwqﬁs

(B) Partially digested food in carnjvpres

(C) Fully digested food in carnivares

(D) Partially digested food in cal

(E) Question not attempted o

o vt s

L] ITGHIT I
(A) IrerTETE ¥ ot it W L0

(B) nmﬁﬁﬁan&mmﬁmﬁsmﬂ

(C) rarereat 3 ot wifea wis| T4]

Wiaﬁmmﬁmﬁadﬁ#
(E) FuRawd ~

The respiratory organs in fish are:

Choose the most appmpriate answer from the
options given below:
(A) Lungs ® Gils =
(C) Fins (D) Spiracl
(E) Question not attempted lﬂ
ol o AEA ST E:

ﬁqﬁﬁﬂﬁm‘iﬁﬁmmﬂﬂgﬂ‘
(a) ¥ (B) (T
© vafm @y e
(E) 3gaiaws
[ Contd...



I3 Curd is formed by the microbial action of which
bacterium?
Choose the most appropriate answer from the
options given below:
(A) Streptococcus sp.
(B)  Salmonelia sp.
(C)  Mycobacterium sp.
(D)  Lactobacillus sp.
(E)  Question not attempted
e forer Sframoy it rshiah i & s 22
Freferfian et & & wartfirs Juge aw TH:
(A) Telwmaei. (B) areqRerad
(© wEFREfE . Bf SeeRdaa ot
(E) Igafawy
14 Match List-I with List-II:
List-I List-II
a. Depositing a layer 1. Melting
of zinc on iron
b. Changing a solid into 1L Evaporation
liquid on heating
¢. Changingagasinto III. Condensation
liquid on cooling
d. Changing a liquid IV. Galvanisation
into gas on heating
T -1 et -1 & e hifr
1 -1
a. wrRWRN= L~ e
6 ot JeEr
b. T & W3 F EliEzus
ECEECRL
c. S Wig v 0l &=
7 W a4
d. THEARE TEATH
9 ¥ sgerr
Choose the most appropriate answer from the
options given below:
= feg e et # & waifires sugw s g
(o) a-ILb-Mc-Ld-1v
@) a-1V,b-Le-ld-m
{ef a-Iv,b-Lec-lILd-NI
B et ngators
(E) Question not attempted / Srgafa
ABC -A13] @

15

16

The fuel we use in the kitchen exists as a liqujq
When it comes out from the cylinder it becomeg
a gas (Change - A) then it burns (Change - B)
The following statements pertain to these
changes. L) RIS

Choose the most approgrime an..swetl" from the

Lpd
options given below:

(A) Process - B (Change-B) is d'themica|
change. )i LR

(B) Both Processes A and B are’ chemical
changes .

(C) None of the processes is a chemical
change.

(D) Process - A (Change-A) is a chemical
change.

(E)  Question not attempted

TS &y €% arer $u 2 oraer i BT 21 5%

7 foretet & st o wrar @ o 9% Mg T wmar @

(MR - A) 703 =12 7w Sterar # (afad - B)) it

foret wom 37 wfaddt & gafag &

ﬁwfﬁf@aﬁwﬁﬁﬁawi&mwgﬁmgi

(A) wfshaT - B (aRed - B) o vamafie ahady
|

(B) 3T SR A 3R B TR TRad 3

(© zﬁfaﬁamfanﬂrBﬁ%aﬁiaﬁnmwﬁa:
afard T &

}D)”;W-A(‘fﬁﬁﬁ?—m@mﬁaﬂﬁaﬁq
(E) gaftaws

Which of the following is not a chemical change?
Choose the mast appropriate answer: from the
options given below:
(A) Digestion of food
(B) Melting of iceberg
(C) Ripening of fruits
(D)  Fermentation of grapes
(E) Question not attempted

- Frerferfen & & Fr-ar warfie uiady T [
ﬁﬂ%&aﬁmﬁﬁﬁmﬁwmm =
(A) e & e ®
PR FE RS —
(C) il T gaT
(D) 3 =1 fipvasy
(E) STufta wy

[

[ Contd...
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If we cut an apple and leave it in a plate for some

time, it turns reddish-brown in colour. This is due

to the formation of

Choose the most appropriate answer from the
options given below: o

(A)
(B)
©)

Zinc oxide
Magnesium oxide
Calcium oxide
(D) Iron oxide
(E) Question not attempted
of T O A ) Fre FE T & e e d By
2%, ArTE AT FOTHT ST 8T
F T & HT & B
Frefrfee faredt 3 & watfires Jagw SC:
(A~ foie aifass
®) | Ay ST
(C) Hfeuam s
(D) HAEH HATES
(E) Iuias s

Which scheme provides employment opportunity
to the unemployed youth by providing them
employment oriented skill training?

Choose the most appropriate answer from the
options given below:

(A) Rojgar Aadharit Jan Kaushal Vikas
Karyakram

Rajasthan Jan Kaushal Skill Karyakram
Rojgar Jan Kaushal Skill Karyakram

(D) Rajasthan Jan Kaushal Vikas Karyakram
(E) Question not attempted

St v SOSETR AT Y AerTE Hhre
SRTaOT ST A ST ST STAER N T 87
frfrfae fwedl § & wraffires 39gw ITI:
(A) AemR STUTfE ST P Ecaciapra

(B) TrsredT 5 diered b FEFA

(©) DT S reTeT et Fr
(D) S e o EapED

(B) i@

(B)
©

ABC-A13] &
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20

21

22

‘- What is the least number

@ T

What is the least number which when divided by

12, 15, 18 and 20 leaves a remainder 3 in each
case?

Tad oA ge & 5 12,1518 afit 20 ®
ﬁwﬁﬁmﬁq{uﬁmfﬁﬁfﬁﬁﬂsmﬁ?

(A) 186 ’

(B) 267

y—T83 «

@) 177
(E) Question not attempted / ST aRd 9

which when decreased

by 4 is exactly divisible by 10, 12, 14 and 187
mmwmw%mﬁmmmﬁ 10,
12, 14 997 18 & qUid: frifera & STl 82

M) T264
(B) 1252
A(C) 1260
(D) 1256

(E) Question not attempted / aﬁﬂﬁﬂ g

What is the greatest number which divides 149,
248 and 623 leaving remainders 5, 8 and 11

respectively? :
et g wet weT o B, e 149, 248 @9t 623
1 i S0 TUsRE: 5, 8 30T 11 99 =T 87
(A) 9

|12

(C) 15

(D) 20

(E) Question not attempted / TG T4

A shopkeeper sold an item for ¥ 1188 and suffered
a loss of 10%. At what price should he have sold
the item to gain 20% profit?

U MR ot awg #1188 H srer @ 3K
10% =Y &1 31T R1 20% ST S0 & o fog 3w
e 1 3 faRe w3 o ST =nfea?

(A) T 1657

By 1584

(C©) T 1675

(D) T 1567

(E)  Question not attempted / ST T

| Contd...




z; 4 6 1 us ()I 2" l WhiCh f
d ng to the Ceﬂs l L] 0 th
ROhan buys “Vl'ist watCh al Df its llﬂf’:Ed 2 Accor 1 g

i i istri jasth as the se
price and sellS'it to his friend at price which is 8% following districts of Rajasthapv Con,
more than itsLl arked price, his profit percentage largest populated district? &)
= Choose_the most appmpﬂ'al'e "ster Jfrom g,
ﬁ:ﬁﬁi a‘;; ;‘?if; 5T A ; options given below: el O il
Bl 3T AN %-ng-!r L g (A) Jodhpur (B) Jdiél: Lel

y I i 1 LAy
(A)  30% @) 35% 1 ' (©)' Alwar D) B et
©) 32% (D) 28% (E) Question not attempted
(E) Questi:; not attempted / 3TRA TH - RN S,
@ Which Nati nghway does not pass through m?’“ St SraeT e
| the Rajasth Frafafes famredt # @ aaffars@yg® ST
Choose the Fqst appropriate answer from the (A) Epma-( (B)
options giverrbelow: j@)’ D)
(A) NatiogaHighway No-10  — - . "N 4
(B) NatiodalHighway No - 44 © (B) SgErawd - :
(C) National Highway No - 23 J ' }

(D) Natioral' Highway No - 11

27 Whlch of the following™ will flcﬂ on water‘?
(E) Questigd not attempted

P 3 A 2y | - a. Airfilledballoon b.. “Sodium
<A o o Rt 3 & wrard 3ug e S 1 c.  Potassium d.  LGold ring
(A U Gemrt 9@ - 10 e.  Steel spoon g
(B) W@‘lﬁm- 44 Choose the most appropriate (iswer from the
© ‘ P55 options given below: o '
(D) uf HEAT - 11 :
(E) FH (A) (b), (c) and (d) only <
h S (B) (a), (b) and (c) only Ty \
25 Khich of t:;':fcglowinf cities in Rajasthan is (©) (a) and (d) only 3\1
own as ‘City of Stepwells’ due to the
prominence §fBawris? (D) (c), (d) and (e) only ™
Choose the #lipst appropriate answer from the (E) Question not attempted ©
options giveg below: ﬁﬂ%ﬁaﬁﬂﬁ-ﬁmﬂﬁmﬂ@i‘?
g‘; ﬁe S‘t" °§JB‘_'“di a. BATAWATEET b,
he City of Jaipur . .
(C)  The Citgfof Ajmer c. uRREm d. @R E
(D) The Citdlof Udaipur e. WAHIIHT <
(B)  Questibfinot attempted 13 g g et o & e s gt
Preferfen & T PRI I At (A) ¥ (b), ()3 (@) U
TR % HIG- ; | ST RATH’ FESATaT 27 By ¥ (a), (b) 3K —
forgegat o & waffies sugw ey, | @), ®)3(E) o
AL B) SEEWEw (€) ¥ (a) 3R (d) ™
(C) FTRIR (D) FARIR D) ¥ (), (@) () &
(E) SaauH

(E) srgafaws |
ABC-A13] @ ~ 6 [ Contd..



Sclect the incorrect
properties of non-metals.

a. Non-metals are found i

o nd in all three sta g of
Excepf di?cxrnond all non-metals are ¢ [yctile
Graphite is the hardest non-metal. ‘
Bm_mme is a liquid non-metal.
Iodine is a lustrous non-metal.
Choose the most appropri

priate answer

options given below: o e
(A) (a), (b) and (d) only (B) (b)a nd (c)only
(C) (a),(b)and (e) only (D) (d):and (e)only -
(E)  Question not attempted
JraTgAr Y fargrarstt & ant & o | st
Hife
a.  IuTqe 357 Y A= TR ¥ F aré sireft )
b. g&ﬁﬁmaﬁaﬂm‘? =1 Bt &
c. NG HIE FIATAUG RN ‘
d. S O g #

e a0 o

e. wﬁsﬂ?mauaﬁ?ﬁarmg%,
(A) Fad (a), (b) 3 (d)

B) Fa« (b) 3R (0)

(C) Fad (a), (b) IN( )

@y Fad (d) 3 (e)
(E) SAFara =
ith zinc

Food cans are coat' zd with tin and not wi

because-
Choose the mos ¢ appropriate anSWeT

options given br zlow:
Zinc has ; higher melting point than tin.

from the

30

31

(A)
(B) Zinc is, more reactive than tin.
©) ‘Zincr" s less reactive than tin.
(D) Tin ‘s an inert metal.
Qu estion not attempted
zaﬁ FF ﬁ&mm%%mmﬁ##ﬂmw
Bl & 7 @ifep-
fr=fe ffaa ﬁarnﬁ?rﬂ ya‘fﬁﬂ? Fage S
@ foiep 1 T, & sy St B 81
®, e, ﬁwﬁaqﬁﬁ?ﬁsmﬁa%l
o fi, f & o e 8
(D) oy e Fifera g Bl
() Frgard 54
"

1.Aiz] £

Which of the: following is not a metal?

Choose the most appropriate answer from the

options given below:

(A) Phosphorus
(B)
©
(D)
(E)
P i & 9 g T 7
Freafiafia et § & wratfire Jugw STCH:
(A) HIEBRRE
®) A -

@ qRT (FCH)

Dy~ G
(E) el

Magnesium
Mercury
Sodium

Question not attempted

-

Choose the incorrect option about the image
formed by a plane mirror. The image is:

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)

D)
(E) Question not attempted

mmmaﬁaﬁgﬁrﬁw%aﬁﬁm
frare 1 T i wfdferar g &-
ﬁmﬁmﬁwﬁﬁﬁmmﬁmﬁz
(A) ardtas

(B) T % ATHER H

(C) It
WWWWWW

FeiE v

i

Real
Of the same size as the object

Virtual
Erect and laterally inverted

[ Contd...



32 ' Who was the ]2'h President of India? - YWalch.of the fullowing sch?mes e Faunched o
: Cliooss the mast epreprieds answor fiom e integrate skill development in academic colleges?
. . i | Choose the meost appropriate answer from the
:Ap;l?{;i:e:r:;;\:‘mvisingh Patil ¢ ptions given below:
(1B 4Dr. AP.J ‘Abdul Kalamn g G_MJ Mm(hy,:%s ann HYuva I???ihal Yojana
(C) y~phri Pranab Mukherjee T 1oy . :
(D) (3Smt. Droupadi Murmu ®,), MukhyafMantri Yuva Sgmbal Yojana
(E) [Y)Question not attempted o (MMYSYS o
" e 123 Tl (C) Mukhyaqslantri Kaushal Nirman Yojana
ﬁﬂ%ﬁﬂﬁmﬁﬁﬂmwmﬂi (MM , '
(A)  sftereft ey 3Rz wifder (D)  Mukhya Mantri Kaushal Vikas Yojana
(B),, . T H. 3. 375ger o (. MMKVY)
[y 5t worer Tt (E)  Q uestion not attempted
(D) hweft 2 oyt Heafires 3 Tersit Hherer frewr Y e w0 %
(B) L yorqufa v fore frerfy et - o g o
33 Whith of the following is designated as the Nodal frfafaa | 4 & waifirs Jugw s
Agé%y in Rajasthan to implement the Prime (A) Wﬁﬂﬂﬂﬂ(h&*ﬂ(ﬂ
Mi er Formalization of Micro Food Processing | (B) ﬂ@'ﬂiﬁ .@Wm (MYSY)
Enterprises (PM-FME) over a period of 5 years (©) ﬂ@ﬁﬁi’ﬁﬂaﬁﬂwm (M:MKNY)
froi2020-21 to 2024-257 O wemh }Hﬁmm(mm
Chébse the most appropriate answer from the ,
. (E) orgafa wg
options given below: \n
(A "The Rajasthan ~ State ~ Administration | The “One Diset \ne Product Scheme” fall
QMarketmg Board under which nﬁgstry in Rajasthan?
(B)(¥)The Rajasthan State ‘Applied Marketing " ‘
OBoard Choose the mas{ appr opriate answer from the
(C) The Rajasthan” State Food Marketing f)ptlous given Qetpw:
¥ Board (A)  Ministry2 of § ocial Justice  apd
‘D"Q“‘" Rajasthan ~ State  Agricultural St
U'iM arketing Board (B)  Ministeraf Textiles
(E)H Question not attempted (©) Minis Commerce, and Industry
Frettarfiea & & 5 2020.21 @ 2024.25 73 5 8 (D) Ministry pf Finance
& > o T T Fer = (E) Questiog.got attempte:d
A (1 T - ) 3 ey s Ferw e T e e 3R e e T e e
TS T % w9 F A1t Ry ey % sl sh
(A) g5y T R W ayd (A)  wfSreh 2 w stfyamiar e ™
(B)umwﬁézmm%ﬁrriﬁ‘é (B) =ugrH ‘
(C) TISTE R S W LN Lt —
\Qz%mqézmﬁﬁqmaﬁ (D)  for wimreld)
(E) (~yoigeta 74 €) sy &
ABC-A13] & (Vs ! 8 m [ Contd...
Wt S { |80
%—-—-‘ &b SODY Ex——,sﬁg%‘“? b =y 2600
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Match List-I with List-II.

36
List-I ' List11 =
(Name of Tree / ity of Trees/
Wood/Grass) od/ Grass)

a. SAGWANTREE H) Making coal
‘ ™~ b .
- Y burning it
b. §Al;_gk TREE {2 Animal fodder
c. ‘Pi K Making tools
ST e of Agriculture
d. lS)EVAN& IV. Making packaging
HAMAN T boxes
Tft-1 3 w11 67 g <fifg
1 "1
@F/esgaTa (T
HTaTH) & Sugifivam
a. WA IH T AR B
e nfasz » AT
b. WIER & |
c. fﬂq; ' ;%%ﬁlﬁll’azﬂql
d. a3k IV. OafT & fesat ammar

Choose the most appm@'ate answer from the ( \39
options given below:

13 R e faeei B & e g ST
a-IL,b-1IV,c-Rid-1II
a-Lb-ILc-ILatIv

(B)

(C) a-IV,b-Il,c- -1

(D) a-IILb-IILc- -1

(E) Question not attempted / iFxId 54

Which one of the folfdfving national parks/
sanctuaries is famous fol donservation of fossils
in Rajasthan? N

Choose the most appm';‘}ate answer from the
options given below:

(A) Keoladev Nationagark

(B) Ranthambore National Park

(C) - Sariska Wildlife Sanlctuary

(D) National Desert Park, Jaisalmer

(E) Question not atterp ed

e & @ AT T 3_.,"- /TR TSl |

37

(E)
BC-A13] ©
paox[0Y3 J90Y

16 81oY 9

8

40

@

4 ’*LSC?O( M= a1 e & 4]
18 (- =33YA

4 ™
The Bhakhra Nangal Project is a joint venturtt’:

Choose the most appropriate answer from the
<t
Rajasthan, Haryaria & Himachf) Pradesh
Punjab), Haryana & Rajasthahm

Punjab & Haryana :j

( D) Punjab, Haryana & Himachal{Pgadesh
(£E%) Question not attemﬁted ™

R TS AT <R 1 T Geh TN ¢
= ﬁmﬁﬁﬁﬁﬁmmﬁﬂgﬁz
(A) T, efemr s e Sy

options given below:
(A)
(B)
©

(c) dsma 2k wfEmoT T
(D) i, T iR fearae wewn
(E) 3 Tuia v Q

. ™M

- Q
A sum of ‘'money amounts to T 8000 after 5 years

and to T + 7800 after 8 years at the same rate of
simple inte Test. The rate of interest pef-annum is-

1 gafyr | mmﬁwﬁﬁsaﬁ
HZT goooamgafuT 9300ﬁwﬁ|mﬁ

aﬁa:at%— (- |

(A) 10% m/., ™M

(C) 15% (D) 8%

(E) Question  not attempted / A T4
o
Ly

“X" lent ¥ 8000 1'0 *Y” for 2 years adiT 6000 to
*Z’ for 4 years on simple interest at the same rate
of interest. ‘X’ rec eived T 2400 in om both
of them as interest. The rate of inte@}fe:r annum J
is: o

AR ST G R X 2 T fg Y R
T 8000 T 3T & auT ‘2’ F 4 I & I7¢ T 6000
RT3 & X QAT A FAT 2400 FUH I
AT & ST oY arfier 2T 2- Cal

S 6% 1) 7% 8

C) 8% (D) 5% 7

(E)  Question not attemprted / 313,@ el
[ Con td...

oy 0 8e8YGX3 bYOYI> (O
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q<ed 3"{‘% I I¥p 2
wQ f.?‘

The simple interest on a sum of money is 'éT of
the sum and the number of years is equal tc | the
rate percent per annum. The rate per annum is;
el werarr o aramor s b o L2
S ST iy i av, ant i g auat &) s
Hr aft z d:

—_—0, [\ .l.on |
T 33% 18 @B 3% % '1:1,
© 25% ® 23%
(E) Ques:io%’lm attempted / SRR P37

In what time, ¥ 8000 will amount to Z 9261 at |

20% per annum compound inter st when the
interest is compounded quarterly?

(A) 15 Yeas (B) 1ve zar

(C) 9 Months (D) 3Y ears !
(E) Question not attempted

e @ § T 8000 1 vftr=m AfE = W 20%
adE WA T 9261 & Imwh, 2t sar A
Hafr g 8

19

39y

(B)
(D)

One stringed musical instr ament that can produce
a ‘wide variety of tunes ard melodies is called:-

Choose the most appro Priate answer from the:
opitions given below:

(A)  Khartal
(C) Rawanhattha (D) Ekara

(E3)  Question not a ttempted
msmmﬁtﬁamrﬂaa’rﬁﬁwmaﬁgﬁ iR
VT I 3 gahdll ¢/, FEATaT 2:
f%ﬁﬁ"ﬁﬂmmm=ﬁ:
(A) @eaw (B) it

© TEer | P

(E) pufmwy

(B) Pungi

ABC-A13] @
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44  The Construction of the Ganga Mandir o

45

Bharatpur was started by Maharaja- Balwan
Singh in 1845 and the construction wor|
continued for . -
Choose the most appropriate answer from th
options given below:

(A) 20 Years (B) 60 Years
(C) 90 Years (D) 10 Years
(E) Question not attempted

¥ v AR @ Pafor HERTST SeE Ri

:1;3':845 ¥ g foem mn o1 SR Fmfor R
ST @

P fmedt & & waffa® sogw sw
(A) 207da®  (B) 60w

90 ¥ o (D) l10adss
(E) orgufawy '
Which type of turban is worn by the men in
Rajasthan on the occasion of rﬁE‘“rriaEes?

Choose the most appropriate answer from the
options given below:

(A) Madeel (B) Antiwali
(C) Mothda (D) Lahariya g
(E) Question not attempted

mﬁm%mwwﬁqmﬁm
T &

ﬁn%ﬁaﬁw@iﬁﬁwwf&wngmmgﬁ:
(A) == (B) sidarEh
(N (D) wwEfEr

(E) oo wy

Mareks disease is a common disease of-

Choose the most appropriate answer from the
options given below:

(A)

Poultry (B) Fish
(C) Honey bee (D) Cattle
(E)  Question not attempted
TR W O A A
ﬁwﬁrﬁaﬁﬁaﬁq’fﬁﬂmﬁ&aﬁwmgi&
A THRF @B yode
© wgEhF D) wpie
(E) aaaatmw



e ey L™ ¥ (<
o -?;E{ __‘%L o A ¥~ @ et -’[’QTE
47 Bugyals are- 49  Which of the following are exotic milch breeds of
Choose the most appropriate answer from the cows?
options given below: a.  RedSindhi  b.  Jersey
(A) Di¥fforested areas in Kashmir - C Tharparkar " ﬁBIOWn Swiss
By nghéadows in high mountains 4 B Holatevalilesmn. f ..d o
: 1:«Choose the meost- approppigte answer from the
@ S&ﬂ cgyered mountain peaks options given below: ‘ft 2R N
() « Degforested areas in Kumaun. (A) (b), (d) and (e) only:ﬁ;
(E) tion not attempted (B) (b), (c) and (d) onlyrey
T E - (€ (d)and(e)only
Frferferstfirned & watfire vogw s . @) () RPN
A) % ﬁilﬁi?ﬂ - (E) Question not attem%'igd
Preaferm & & e e g el A fadeh
(B N ¥ forega e & ) Ty
© e fava . a  wfedt b o
(D) @ﬂwmaﬁ-- ( S AT d. (v faw
® omeEwE e. EeudAwRRET ©
‘ _ i R e fredt # & waifaes suges ST
48 Maru Ra¥fhs are the pastoral groups of Raikas LAy FEE (b), (d) R (e)a@ 3
— 0 oo
Choose Q most appropriate answer from the EE)) mi::’ (b) :;t (cfg
- options gien below: .}’ \5‘# (E) rafa s g
(A sn@a herders 2L %\ 2
(ﬁ) Goat herders Ul(}lj“ ﬁ‘a\ 50  According to the Census 562011 the lowest sex
(C) Cattle herders ﬁ\ ratio is foundvin which district of Rajasthan?
®) C;:;'.l herders ? Chc'mse t%le most appropq'?e answer from the
) Q%tion not attempted options given below: lg
(A) Dholpur (B) ", Dungarpur
T ] ST T AT 3 T e & E S (©) Nagaur (D)'gkajsmmd
ﬁﬂ%ﬁﬁ%ﬁ'ﬁ Lk awffawawgmma?r (E) Question not attemptéd
(A) ST red ¥ quef .t 2011 ¥ ST 3 AR G % forw fer 3
" (B) e Quoo b LR R aagtrmwn’:ﬁ:}
©) wARKE = are & W Wmﬁmﬁﬁm?mmé:
BT é‘—%’*m% (©) iR mﬁﬂ
(E) “‘gﬁ L L0 . %9 (B)  s7gefea war 4
yo . e
ABC -A13] g@ B _.'.2:? o a 1 [ — EE [ Contd...
Aa UDYJ@ }TE }.;6 - -
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53
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The lowest populated district of Rajasthan
according to the Census of 2011 is:

Choose the most appropriate answer from the
options given below:

(A) Sirohi (B) Jaisalmer

(C) Bundi (D) Dholpur

Question not attempted

2011 T STIVAT F IFTER TIRAT H o0 T

S T fe

ﬁ%ﬂﬁﬁﬁﬂmﬁsmmgﬁ:
(a) fadd @ Sger

(©) & (D) dagR

(E) afaws

Under this project the surplus water of Ravi-Beas
is utilized for irrigation in Rajasthan,

Choose the most appropriate answer from the
options given below: .

(A) Panchana Dam Project

(B) Gandhi Sagar Dam Project

(C)  Sidhmukh Dam Project

(D) Bisalpur Dam Project

(E) Question not attempted

™ AT & siwfa odfte W st wo
TSR 3 fi=d & fore s frarsmar &
Frefafes fmred # & waifas TG I
(A) Y=Y Sty g

(B) et wR wier afiisEy

(O Tagme sty s

(D) Toweg st s

(E) wgafawy

Which soil found in the western part of Rajasthan
is less fertile?

Choose the most appropriate answer from the
options given below:

(A) Alluvial Soil (B) Desert Soil

(C) BlackSoil (D) Laterite Soil

(E)  Question not attempted .

TSEA & IFEt W F arft s aref - =T
1 IUSTS BT &7
fFrferfae fampedt & &
(A) m‘ﬁ

(C) el qaT
(B) geRasd

%

3G I
wEEE e ey

(D)  rerge :%9

rm—l-gk aUD-
(10 1 20

«—J,u}

11

h
s
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57

:-'l-.i

. (©) B

Due to the high utility of this tree in the Thar
Desert of Rajasthan, it is called as the

‘Kalpvriksha’ of the desert. .
Identify the tree from given below options,

- (A) 1| Khejri (B) ThoT |
(C)+ Babool (D) = Khair
(E) Question not attempted

FTOT 6 & P LIS T FHEATH FHET A B
R et 3 & g Y e AR

(AT A (B) 9K

(©) & @

(E) 3rgufta wa

In summer, hot dry and dusty winds which blow
in Rajasthan are known as:

Choose the most appropriate answer from the
options given below:
(A) Chinook

(C) 'Fohn ' (D) Loo

(E)  Question not attempted

TSRt 3 3 s 7 <oy a3y o w e i
EaTd e &:

Frfafas freedt § @ waffos ITGH I
(A = (B) TEEX

(1 §

(B) Norwester i

(E) . rgufa wx

A certain sum becomes 8 times of itself in 18

years on compound interest. In how many years
will it become double of itself?

aﬁfuﬁrw&mwmaﬁﬁmﬂsuﬁﬁ
m%lazﬁm%aﬁﬁmiﬁa‘l@ﬁm?
(A) 6 &7

© 8 D) s

(E) " Question not attempted / SR Wy

Ifa:b=2:3,thenwhatis(a+b):(3a—b)?‘
ﬂﬁa:b=2:3,??r(a+b):(3a-b)w%?
(A) 2:5 ®—5:3

) 5.2 D) 13:5

(E)  Question not attempted / Hafe v

|0 -t T ’%ﬂr [ Contd...
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3 1a 196 =10 M
e A

yo iy
58 The sum of three numbers is 196. If the ratio of | 61 Match List-1 with List-II. 4o! Go K C{é
the first number to the second number is 2 : 3 and List-I (Instruments) List-II (Features)
that of the second number to the third number is a. Ektara L. This was beaten
5: 8, then the first number is: with two thick
W WS FT A 196 ¥ AR vEeh ok 2w wooden sticks.
st S 2:3 %Waﬁﬂ IR ?ﬁ!‘-lﬂa;:ﬁm b.  Algoja II.  Main instrument of
FT AT S : 8 B, O et G 2 . Bhopon
(A)" 80 ' By -0 ¢.  Ravanhattha [III. Meerabai used to
(é‘) 120 ' (D) 60 : play this instrument
(E)  Question not attempted / aaa-\a;ﬂagg d. Nagada IV. Flute like
instrument
59 Which of the following is not the indigenous -1 0 -1 e e X
milch breed of cattle? @'l (FrerE) ‘!ﬁﬁ‘-ll m
Choose the most appropriate answer from the ar 3. o y ma}mm
options given below: :;glam
(A) Red. Sindhi  (B) Tharparkar b U ¥
(C) Sahiwal (D) Jersey . .
; c. € AR Wi
(E)  Question not attempted 0}_ T et off
Tﬁﬁmw@%aﬁmﬁmm | d\ ategtt Sk e
: Choose the most appropriate answer from the
ﬁnﬁ@ﬂﬁﬂﬁﬁﬁﬁﬂﬂffh?ﬂgﬁmﬁi; options given belo:f Y
A) wefEdt () e o fo e Pt & & wraifores swaws sec g
(C) wrdiar oy vt (A) a-I,b-1V,c-1,d-II
(E) afaws (B) a-IV,b-M,c-IL,d-TI
@ a-TLb-1V,c-1Ld-1
60  The Foot and Mouth disease of cattle is a- D) a-Lb-M,c-I,d-1V
Choose the most appropriate answer from the (E)  Question not attempted / A v
options given below:
(A) Bacterial disease B ) Which one of the following is not a Sufi Saint?
(B) Fungal disease o Choose the most appropriate answer from the
(C) Plasmodial disease ’ g options given below:
(D) Viral disease (A) Khwaja Moinuddin Chishti
(E)  Question not attempted (B)  Dadu Dayal
qﬂ'aff o W’W e (C) Amir Khusro
(D) Baba Farid
mg mw = gﬁ: (E)  Question not attempted
o Freaff i & -2l e e
®) = Frefiefie et & & wrarffires swge s,
(©) emeHliewl (A) S ETE Rt By
P e At ot ©  sevgm (D) e
) TR s | (E) Swufaya
ABC-A13] & < 4—3) 13 [ Contd...
L
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63 The life history of the saints (which is) available

in poetry form in Rajasthan is known as

Choose the most appropriate answer from the .

opligns given below:
(A 'Vadhinika " " '(B)' Thoolna
(N Parchi (D) Jhamaal
Question not attempted

i s e st wfar w9 § Toram §

TRRYE,  Famwasmramrd
foret & & warffire suges se

(A%’ Fafr | By qo
(Qpy T ©) ww
(Edyy Stgafe ws |

LN

Tl"gadvantageé of the cage system of rearing
poiiliry birds are-

2.€9 Rearing of larger number of birds

b.  Production of clean eggs

€. . Control of parasitic disease

d. "y Ensuring proper ventilation

CHiSbse the most appropriate answer from the
opﬂns given below:

(A (b), (c) and (d) only

(BJ¥} (b) and (d) only

(2 (@), (¢) and (d) only

(D) (a), (b) and (c) only

(% Question not attempted !
%mﬁﬁm@%ﬁmﬁwﬁsmﬁ.
a. . 3 e i ot a5 qrem \‘\

' .

b. oy B 3 1 IR

c. € ettt 4} w7 Fipsor

d.07) 3oes ot i fifarer

T forhedt & Hﬂf@a?@;ﬁmgﬁ
Fd (b), (c) 3R (q)

(B)) e (b) 3t (d)

(O *a (a), (c) ikt (a)

(D) % (a), (b) 3 (c)
(BY IFgaRa 58

ABC-%BI @
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67

Milk fever is usually cbserved' in cows _an d
buffaloes around calving time and is characterizeg
4 1 er fr
Choose the most appropriate answ om the
options given below:
(A) Increased blood galcium level; / |
(B) Increased bloogepotassium levle_]‘ z
(C)  Reduced bloodgajcium level
(D) Reduced bloodp4tassium level |

‘ estion not atfeinpted
’l(i)l ﬂ’thuﬁB ¥ e & gH (FICET 21H) B
et firess Bra s e-
Freafeiaa et 3 wrarfiras s s
(A) T ¥ Ficagw wagen g1
(B) 5 v e aT

(O~ & Ffcwra TR T g

(D) AR Hs g
(B) orafa wg 8 H
Who among the follogg may be callgd the fir
prose writer of Rajasthani literature? |
(A) Vijay Singh Pathik
(B)  Meghraj M
(C)  Shiv Chandra iya
(D) Vijiyadan Detl?gzm
(E)  Question not atigmpted A
Frerferfas & & fedy ooy A &1 womg 0
T FE I HHAT 22
B e

(A) T ol (1)
@)/gaﬁnaaﬂmﬁa@) [EECHEE
(EB) qefawsy (&

Poetry work which' describes

the gre
achievements of a ¢

Y or an individual is:
Choose the most ap‘lﬂpriate answer from t
options given below:

(A)  Vigat ®) Prakas

(C)  Rupak () Raso

(E)  Question not atiempted

T PRt SRR T sy
mﬁmﬁwaﬂ‘hm FEATH 2.
ﬁw%mﬁaﬁﬁﬁmﬁmmmaﬁ
(A) foma ) ST

©) ww= TaY

(E) R s o,

[ Contc
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“Nilagai” is a species of-
Choose the most appropriate answer from the
options given below:

(A) Deer

(B)
©)
(D)
(E)
seftemTe s g @ -

fraffad Rreredt & & waifirs 39gw ST
wr REd

(B) wRH :
(C) W '

(D) TEH '

(B) uRa s

Horse
Buffalo
Cow

Question not attempted

7

Deforestation is harmful to us because-

Choose the most qppmpﬁate answer from the
options given below:

(A)
(B)
©
(D)
®)

It decreases soil erosion.
It increases rainfall.

It increases soil fertility.
It increases soil erosion.

Question not attempted

©

(E)

ABC-A13] &

14
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)|

The phenomenon in which in an image formed by
the mirror, the left of the object appears on the
right and the right appears on the left is called-
Choose the most appropriate answer from the
options given below:

(A) Regular reflection

(B) Lateral reflection

(C) Total internal reflection

(D) Diffused reflection

(E) Question not attempted

= iz it dor g o Sfafee & 9
it ET AT SR e s A e g R,
FEA 2 -

et faedt i @ warifass J9gw I
By fFrafir woad

(@B) v e

(©) o AR T

(o) Fefa (rfrafi) waEA

(E) ¥iafa wa

When an object is placed in front of a mirror the
image formed by the mirror is erect, of the same
size as that of the object and is at the same
distance from the mirror as the object is in front
of it, the mirror is-

Choose the most appropriate answer from the
options given below:

(A)
(C) Parabolic mirror
(E) Question not attempted
wa%ga%a&w%mﬁwm%l TdoT Zr =
e e, 3 g 36 SR 5 O S T &
mﬁaﬁwm%ﬁwaﬁw%wﬁm«
g -

e e # & watfires Iugw S
(A) I YT (B) 3t U

(C) TSI (DY e qUuT

(E) I N

(B) Concave mirror
(D) Plane mirror

Convex mirror

[ Contd...
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Which dance is performed in the temple of Kaila
Devi? !

Chothe most appropriate answer from the
options given below:
(A) ol Dance
(B) ®ire Dance |
(C) ®indiya Dance

(D) guriya Darnice

(E)  Question not attempted

e SRR F7-a e Fovar ST 9
ﬁ%ﬁﬁﬁﬁﬁ!ﬁfﬁﬁ?ﬁgﬁm ERE
(a) @FT= (B) Ty

© EfEm oy wfargE

(E) gaﬁ'asm

What mce is performed in the sitting posture?
Choo € most appropriate answer from the
options given below:
(A) <frahtali Dance
(B) Bamrasia Dance
(8] vri Dance
(D) awai Dance
(E) Qhestion not attempted
. ¥ g F e wmr e
e @ watfis 3agw s
A) WeeftgE @y sk
© W 0 v
(E) "

‘Chaa:i)paint' is the famous folk drama/
presen{@ion of which region of Rajasthan?
Choos€ the most appropriate answer from the
optiongiven below:

(A)

U

Dausa (B) Tonk

©) jsalmer (D) Kota

(E) gvestion not attempted

AR A EH F 6w o W R s
AT/ 27
frafefaa famedr # @

(A) a'

©
@ R

I I
I ‘
(D) ey

15
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76

77

Which of the following Reactor Type is currently
operaliffz in Nuclear Power Plants of India
situatéfflin Rajasthan?

s §cy g & v e s
ﬁﬁﬂﬁmmmmﬁqmﬁ? A)

= () .
Chooggythe most appropriate answer fforh the

17~ optiefAS kiven below: &l AR
ﬁqﬁlﬁmr—!ﬁﬁ% Wﬁﬁ?ﬂgﬁ’?ﬁ{gﬁ'
(AY” BWR (B) IPHWR 590
(C) VVERI1000 (D) CANDU

(E) ﬁuestion not attempted / ﬂaﬂﬂ'ﬂ'ﬂﬂ’
i)

‘Gmr%waraj Abhiyan’ was undertaken under:
Choose the most appropriate answer from the
‘optiogs.given below: | L

(A) ¢Bpbka Sath, Sabka Gaon, Sabka'Vikas
" (B). (ubka Sath, Sabka' Vikas, Meta Gaon,

era Desh e
(C) 1Mera Gaon, Mera Desh ¥
(D) Bhbka Sath, Sabka Vikas o
(E) estion not attempted
ﬁaﬁaﬁﬁ % waifire sugw 3w g3
HERT |, et 711, FawT fasmg

(B)  Fgerenn amw, Ty fepre, ey it vy
(C) AW its, Ty Aer .»
®) e wmy, FerwT R
(E) L]

I |

Y

The est percentage of fat is found in which
animal product?

Choose the most appropriate answer from the

options given below:

(A) gm (B) Fish

(C) Epg (D) Cow milk

(E) " &ukstion not attempted

G o 9T 1 yferere watf g 2o
Foecdt 312 vt s v g

(A) ‘ (B) wost

(C) si=r T F 3y

(E) rgafawsy

[ Contd...
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In which of the following animal products, the
minimum percentage of protein is found?
Choose the t appropriate answer from the
options given below:

(A), . : ~ (B) Fish

©) Meat W) (D) Cow mulk

(E)  Questionot attempted

Frafafes & %ﬁ%m sy 3eg & ST v wferar
g g &7 (1)

Frifafaa fraveit 3 & warifirs J9gw I

(a) = B) "o
(© ®W& w (D) TEFM
® waeaEm

[4))

The system of farming where crop production
and raising of Jivestock etc. are done on the same
farm is called @3-

Choose the mibst appropriate answer from the
options given below:

(A) Mixed farming

(B) Mixed cropping

(C) Crop rqation

(D) Organigfarming

(E) Questiod hot attempted

et (wfim) mﬁqﬁmmaﬁtm
%.

©

(B) FFARaIF

The word * chlli(e“i indicates the Gujarati influence
tl‘ed-followmg dialects?
appropriate ansWer from the

on whichof

Choose the mest
options given below:

(A) Wagadi (B) Mewati.

(C) Bhili =3 (D) Dhundari

(E) Question not attempted

iz " -] et T ot ST e &7

frefafad 3 & watfe 37gEH I
=

(a) amd o B 7

©) M o;r go st

®) ST

\\ ABC-Al13] &
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82

Which is the biggest fair of Rajasthan’s tribal

society?

Choose the most appropriate an.s)_'ﬁr from the
options given below: !

(A) Beneshwar Fair " "“_“ 4:3 1t

(B) Kaila Devi Fair )

(C)  Shri Mahavirji Fair . ':g

(D) Kapil Muni Fair

(E) Question not attempted

mnﬂ: mﬁwﬁmmmﬁﬁ:ﬁmm—m
& e
ﬁmﬁﬁ:ﬂﬁﬁﬁﬁ%mmm@
(A)— Ao A

(B) ¥ & Hew ,7,»?,

(C) o el AeT <

(D) e g A

(E) rgaf s <
&

Which fair is held at Bhavgarh de?'lya village
e

near Jaipur? (o)

Choose the most appropriate ansg%r from the

options given below:

(A) Karni Mata Fair g
(B) Kapil Muni Fair My
(©) Khalkani Mata Donkey Fair =
(D) Sheetla Mata Fair ‘:3
(E) Question not attempted i

w%ﬁmmmﬂhﬁaﬁ}gﬁmm
t? -
o et 3 & waffres gy SO

(A) mﬁmﬁm'\‘ Ty

(B) =R A AT ﬁ:

oft ol T TN Ay

(D)  ftere HaT A o

(B) o wa "j
[ Contd...



Identify the characteristic features of the Aravali

85  The cost price of an article is 'g- of its selling
region in Rajasthan. price. The profit percentage in this transactiop . )
3. The Aravali mountains are also called Freft a1 e e S v ey T g. g

Aadaval mountain. , 93T o =y = gfawT 2-
b.  The Aravali mountain range is regarded AT 20% (B) 24%
one of the world’s oldest mountain ranges' © 25% D) 15%
¢.  Its height increases from South-west tc? (E)  Question not attempted / ST N3
North-east. :
d. Gurushikhar is the highest peak of the | g¢ What is the single discount equivalent to
Aravali ranges. successive discounts of 25%, 20% and 15%9?
Choose the most appropriate answer from the hftes 2F 25%, 20% 30T 15% é;m—ga;qma!;
options given below: T R? '
(A)  (a), (c) and (d) only (A) 51% B)y"49%
(B) (a), (b), (c) and (d) (©) 42% (D) 60%
(©) (), (b) and (d) only (E) Question not attempted / HTafRe w1
(D) (a). (b) and (c) only 87  On selling an article at a discount of 28% on its
(E)  Question not attempted marked price, the shopkeeper still earns a profit
TS F sroaelt & i Rivwarsit 6 qeam of 20%. Had he sold the article at the marked
i price, his profit percentage would have been:
A SISt W& i TETer wers it ey Ay el g st o1 T e 289% w2 ¥ Ty A=Y w
B | sﬂgmqmzo%msrﬁhm%mﬁaaaﬁ!ﬁ
u/amaaﬁuafaaimﬁmiﬁtmﬂmqa‘a %@mﬂwﬁmmmmm
ST A St 2 Bram
e\ TR S afornafim & e A i A)  40% =129 o
st & (B) 58% 18 0
d. " i srraeh shwen 1 owd St A (©) 33%% T
R et % & st Juge swoa: 0)665%
(A) 34 (a), () 3 (d) (E)  Question not attempted / SR war
(B)  (a), (b), (c) 3 (q)
Faa (a), (b) 3 (d) 88  If the price of petrol increases by 20%, by what
(D) Fas (a), (b) 3 (c) percentage should the consumption of petrol be
(E) ;ﬂ@f{ﬁjg reduced so that there is no change in the expenses
' on petrol?
Rajasthan is situated in the part of India, ¥ T 20% 95 ST &1 393 3qvivT § Ry
(A) North-Southemn (B) East- Coast “ﬁ?ﬁﬁ'ﬁﬁm e ﬁ@amﬁlﬂmm
(C) North - Western (D) North -Eastern I E @ , [ é b
(E)  Question not attempted ' (A 20% - *M \{S‘%Jl >
TSI YA F T 3 Ry &y - B 6%—% /,H 0
(A) afaoft (B) yqdfige (©) 13%% “ﬂ* F@ j
‘5&‘4/33:-‘@* D) It (D) 25% 43 ok
(B) IrgaRaux (E)  Question not attempted / ST gy rel
ABC-A13] & 18
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SC)

The first phase of Jaipur Metro Rajl Project i.e
Phase - 1A started, was from:

Choose the meost appropriate answer from the
options given below

(A) Chandpole to Badi &oupar
(B) Mansarovar to Ch | 3

Mansarovar to Jalptﬂ

(D) Mansarovar to Badgh

(E) Question not attemftdd
aqgtﬁ;’r’{r-rtrﬂaﬁwaﬂn?qm,w -IAYE

§31T21T:-
Forferfan e i gy g s
(A) alachaﬁa-g’ra*rq-gm

H (;B«)/mwﬂat&maq’la el

() AR O

L@ e e g

(E) HIaia s

In Rajasthan a special eco?omic zone for Gems

and Jewellery has been € lished at:

Choose the most appra;’lﬂte answer from the
options given below: o

(A) Sitapur - Jodhpur (48]

(B) Bhiwadi - Alwar o

(C)  Debari - Udaipur

(D) Boranada - Jodhpufed!

(E) Question not attem

Wﬁmﬁmﬁm@ﬁmm

ﬁiwﬁﬁaﬁmm%ﬁ

b e 8 W 9T

(s O\ OQ&M

@) e - e (

(©) Rl - FEL 4
-

@/émﬂm
() Jgaia ¥

03015954
\
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92

19

Penicillin was discovered by .

Choose the most appropriate answer fro

options given below:

(A)

®

©
D)
(E)

9l

Frffas e A4

(A)

The first woman preside

Louis Pasteur

Alexander Flemmgt £

Robert Koch £
17

Edward Jenner ;4

Question not attem;ﬁé:\

&ﬁfﬁﬁﬁmaﬁw__g_%;mmm

8 el

Association is:
Choose the most approp:%(e answer from the

options given below: f;j
(A) Sudha Murti ﬁz
(B) P.T.Usha
(C) P.V.Sandhu
(D) Smriti Irani g
(E) Question not auemégéd
T 3t @ miﬁm aToTe B 87
P et 58 mféﬂ?aﬂgwm;ﬁ
(A) g afd ¢ J
@By & w0
© ey :3;
(D) wfar St &)
(E) i 94 W;
I [ Contd...
48
()

nt

@301595

55958

m the

nam:wgﬁmgi
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93  In sports and games the Dronacharya Award is

given to:

Choose the most appropriate answer from the

options given below:

(A) Players of Commonwealth Games

(B) Players of Archery

(C) To eminent coaches

(D) Players of Olympic Games
(E) Question not attempted

CeEE § Fromard g fear smar #:

Frafafaa et § & watfies Iugw s 9

(A) UsgviEe @ & faenfeat @t
(B) it & flgenfeat =
ey v R

(D) 3t @t & Raenfeat =1

(E) sAqufaws

94  During exhalation, the ribs-

Choose the most appropriate answer from the

options given below:

(A) Move down and outwords
(B) Move up and inwards

(C) Move down and inwards
(D) Move up and outwards

‘(E) Question not attempted

IoBaET & S qgerat-

mwﬁﬂmﬁmmiﬁ:

(A) = SR ame Y i ifer et B
(B) TR iU hT 3R fy et
Of 2 i siee ey sivenfer w3
@f st A s e

€) STMATH
ABC-A13] ©

20

19

l - i can
95  The longest part of an alimentary

al in humap

beings is the:

Choose the most appropriate answer from the

options given below: »
(A) Oesophagus

(B) Small intestine ‘

(C) Large intestine (

(D) Stomach

(E) Question not attempted

e & SRR ATCT 1§ T W &
Pt et & @ @affies Jage ST T
(A) TTEEL .
By it :
(©) =&t

(D)  mHEE

(E) Iguiaw s

4

The microorganism that causes Rabies is a-

‘Choose the most appropriate answer from the

options given below:

(A) Virus

(B) Plasmodium

(C) Fungi

(D) Bacterium

(E) @esﬁon not attempted

i 3 R Feramt qpushia & -
Freafere et & & wrarfares s sw
ey 3
(B) reHIfEEy

(C) Fa=w

(D) Sftamop

(E) rqaf@wsy

[ Contd...
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98

Which of the following materials cannot be used
for making compost/manure?

Choose the most appropriate answer from the
options given below:

(A) Excreta-dung

(B) Rotten food materials

(C) 0Oil and paint

(D) Fruit and vegetables peels

(E)  Question not attempted '
Frafafaa & & a1 vt se/ar T §
ERIUECRE RIS o v I

Preferam et & wrarffires g s
(A) TR aafite

(B) W guETY yard

(e s IR

(D) ot i wfesrEt ¥ fisern

(E) FIuiE v

Match List-1 with List-I1.

List-1 List-II

a. Gobar gas plant I. Iron scrape and
broken plastic
items

b. Vermicomposting II. Solid waste

c. Land fill 1. Cow and buffalo
dung

d. Recycling IV. Earthworm

-1 % wre g1 o v il

qeit-1 gEt-11

a. TR0 H4 I R AR

§U ATRE 1 §HH
b. aHfERfRET . 3w e
c. i sor . T S TR
d. GO . e

Choose the most appropriate answer from the

options given below:

1 fr Ryt & watfirs 9w I T
a-ILb-IV,c-1,d-1

(B) a-MILb-ILc-Ld-IV

(C) a-Lb-MLc-ILd-IV

(D) a-ILb-IV,c-MI,d-I

(E) Question not attempted / FaRE 94

ABC-A13] &

20

21
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100

Who among the following is the recipient of the
Dadasaheb Phalke Award 20247

Choose the most appropriate ansSwer from the
options given below:

(A) Rajnikanth

(B) Amitabh Bachchan

(C) Mithun Chakraborty

(D) Rekha

(E) Question not attempted

Erfrfiaa o & Rl 2T aTRe Fesh TR 2024 8§
gt foma T 82

413 P vt & wrar@ IUGH SO

(A) TR

(B) AT se=A
Aoy~ Toregr <l

(D) ‘war

(E) Fafawy

Which of the following is not a Rabi crop in
northern India?

Choose the most appropriate answer from the
options given below:

(A) Maize

(B) Mustard

(C) Gram

(D) Wheat

(E)  Question not attempted

= & -t 3o v o w2
ﬁwﬁiﬁaﬁaﬁﬂﬁﬂmﬁmmgﬁ;
o

(B) w&

(©) =

®)

(E) srgafEws

[ Contd...
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102

103

According to the 2011 Census the highest density
of population in Rajasthan was in which district?
Choose the most appropriate answer from the
optiops, given below:
(A) | MBharatpur
© QRausa v D) Janpur |
(E) estion not attempted
2bnﬁ&ahmm€s aaaqnnmm%ﬁmﬁéﬁ
TSI g U

forepedt & & waffores sugw Io H:
(A) SEAR (B) 3FaT
© %= g
(E) Egaﬁanar

the decade of 2001-2011 in Rajasthan, in
whicl;_fiistrict was the highest growth rate of
populgtion?
Chod$d the most appropriate answer from the
optlog given below: .
(A) Ganganagar (B) Jaisalmer
(C) _Barmer (D) Bikaner
(E) estion not attempted
20012011 3 297eh 3 Torey T ¥ e et i s
e wyatfus o
ﬁwﬂv&aﬁﬁqﬁ&mfﬁm:wgﬁsmai
o -
(@)
(E) gl-‘-l’ﬂﬁ?l‘w

Whi%pf the following structures is a short form
of pogt, found mostly, in western Rajasthan?
Chods@ the most appropriate answer from the

optio‘g given below:

(B)  Alwar

Khadin

Beri

(B)
(D)
Luestion not attempted

F ¥ FH-HT §EAT T F BT €9 8
St arfReEsiTTa: afird Teedr § art St 22

mﬁmﬁﬁﬁmﬁbﬁmmgﬁ

21

22

104

: B,

105

Which of the following statements is correct in
the context of the location of Rajasthan on 4

World Map?

Choose the mnslﬂprapriare anm:'::' from the

options gwen belathy

()]

! perlic.
' south part a_]asthan
The tropic (8F canccr passes lgl.rough the
middle of asthan
The equator passes through the norther
part of Rajasfhan.
Rajasthan located in the southemn
hemispheretn
(E) Question nethttempted -y
fFrfafeada FHA TSy Hkfag arfey
v feufa & wef 7 gt &7 e
Frfafaa et F & waifire Iugw sw 9
(A)/ﬁl'artﬁgﬁ%af%"ﬁﬂwﬁﬂmw
2
Ty
(BY, v T 3 W T @ S et 3
(© W@tﬁn%w&mag}aﬁm
2 0
(D) T afeefyriverr F fRer 2
(B) safawgQ

‘(A) e troptcm cancer passes tfxmugh the

©)

D)

Which city did
Rajasthan?

araja Surajmal set up in
(Ty]

Choose the mostmpmpriate answer from the

options given bel

(A) Jodhpur ¢ (B) Mewar

(C) Bharatpur (V) (D)  Udaipur

(E) Question nc?pattempted
mmﬁmﬁﬁmmmmw
Frafafas H‘aﬁ?msawa;mgi
A) MRy B) e
©wagw ™ D) g

(E) aﬁvﬁawg

= [ Contd...



106 The Meja Dam has been built on which of the | 109 Khejarli Andolan for environment conservation

following rivers in Rajasthan? is associated with which state of India?
Choose the most appropriate answer from the Choose the most appropriate answer from the
options given below: . options given below:
(A) MahiRiver (B) Som River (A) Madhya Pradesh (B) Rajasthan
(C) Kothari River (D) Luni River (C) Kamataka (D) Gujarat
(E) Ql-xestion not attempted (E) Question not attempted
T it e T e sty s T 8 o e 3 R S T Gt ke
Frefafa foamred & & waffae soge swgT: R 3 P T & weiferd 87
(A) T ®) @ i e § & watfads 39gw S:
@y we O T A) TER @y TEE
() Safaws (C) wAleH (D) T4
. (B) e s

107 Which is the biggest saline water lake of
Rajasthan?

110 Who is known as the Father of Genetics?
Choose the most appropriate answer from the

i Ch th t appropriate answer from the
options given below: oose the most appropria ro

(A) Pachpadra (B) Sambhar
(C) Lunkaransar (D) Didwana
(E) Question not attempted

options given below:
(A) Bateson (B) Charles Darwin
(C) Hugodevries (D) G.J. Mendel

mﬂﬁ@@ﬁﬂﬁﬁﬁﬂﬂﬁ?—?ﬁﬁ? (E) Question not attempted
PreReae faemedt & & Frartfar Sug e SO0 G ST 35 S e et e &7
(A) w=9R _BY "R fFreffaa freedt § & waffies Iugew TS
(C) wUHERR (D) SreaEr (A) A (B) wcd ot

C(®) owafEE (© whddw oy S A

(E) iaia
108 Which river of Rajasthan is connected to the

Veédic and Puranic period? 111  Which of the following is not a part of the human
Choose the most appropriate answer from the respiratory system?
options given below: ‘ Choose the most appropriate answer from the
(A) Mahi (B) Banganga “;lw r/ options given below:
(C) Luni (D) Saraswati % {A) Alveoli (B) Medulla

‘ (E) Question not attempted (C) Larynx (D) Bronchi
TereT 6 W.ﬁﬁ%ﬁgﬂwmﬁw (E)  Question not attempted
& fForaferfiaa # & FH-A1 AT 6 T 0T A 82
e faedi 4 & wartfires J9g S0 T frferfiaa frsredt 3 & wartfires g SoCT:
(A) W@ (B) oM (A)  Fhr (o) By e
© Py (©) %3 @it (D) =
(B) FgeRa | (B) afaws

ABC-A13] & 23 [ Contd...
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112 Which of the following statements are correct

regarding the Keoladeo National Park?

a. Itis loglfd in Pratapgarh city.

b Itis thNabitat for many birds.

C. It is farkolis for conservation of the leopard.
. MigratBy birds come here in specific

Se€aso )
Choose the #fgst appropriate answer from the
options given below:
(A)  (b), (crand (d) only
(B)  (b) and(d) only
(C)  (a), (b)Ydnd (d) only
(D)  (a), (b)fibd (c) only
(E)  Questigninot attempted .
FaERE TSI ¥ i i Frafofag 3 w2
Fga s M
AN qgnﬂr%mﬁﬁ:m%l
b.  ¥% 3 uftrat & ame T )
c. I8 & T % forg wRrg &1
d. =& ﬁtﬁﬂrﬁmﬁ ¥ et veft yarE * g
aw@rﬁl
:ﬁﬁﬁqnqﬁﬁcﬁﬁ @ waifes Iugw I
(A)  FaE (B2(c) N (@)
By FaE( (d)
(C) ¥« (a), (b) 3 (d)

m)amm%fwmm

(E)
()]
ich of the‘ﬂlowing is not a fresh water fish?

Choose the st appropriate answer from the

options givenBelow:
(A) Rohu ¢  (B) Hilsa
(C) Common Carp (D) Catla
(E) Questiagfinot attempted
et i Aeh-eft A St et waedt
29 N
ﬁﬁ%ﬁﬁﬁ%ﬁﬁmmmmﬁ
feear
@ | O ig? o
c) F F ( .
(E) aj’ﬂ‘flﬁg
24
A13] ©

23

115

114 Which of the following statesgges NOT share itg

border with Rajasthan? L

Choose the most npmerimS}lnswer from th,
options given below: i q

(A) Maharashtra Q . |

(B) | Mﬁdﬁya Pradesh | ,8’ :

(C) Punjab i 2y 3

(D) Gujarat <

(E) Question not attempted ")

freafafas & & -8 59 Tﬁ{-m:[ F 9T
e a8

ﬁnﬁﬁgaﬁﬂﬁ#mf&%vgﬁmﬁﬁ
W
(B) Hexwam ».1}

(C) Y= E

(D) TS
(E) gufays

5954

The city in which the kite fesgx‘ﬂ is celebrated in

o
Rajasthan, on 14™ January ghe day of Makar
Sankranti, is;

0

Choose the most appropriate answer from the
options given below:
(A)
(B)
©)
D)
(E) Question not anemptep

TSI i 14 S, wa mﬁt%ﬁam wErad
forer T & w2 u-;

ﬁnﬁ%aﬁwﬁﬁ&mﬁ%mmgi

(A) IR
(B) EiCaCs

Udaipur
Bikaner
Jaipur

Ajmer

3015954

0301
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116 Ministry of Jal Shakti has taken up the “Jal Shak-

ti Abhiyan” with the theme “Catch the rain —
where it falls when it falls”. Which of the follow-
ing are major intervention of the campaign?

a. Water conservation and Rainwater
haVi#isting
b.  RekoVation of traditional and other water
tanks A

c.  Reb&and Recharge of bore-wells
d.  Watdshed development =

e. Intbakive afforestation ret )
Choose tf€) most appropriate answer from the
options giuén below: *
(A) (b), (c) and (d) only

(B) - (b), (c), (d) and (e) only

(©) (a),(b), (¢), (d) and (e)

D)  (afb) and (c) only

(E) ion not attempted

¥ wifn T w1 wifw SR
“aﬂfaﬁrﬁ’i—ﬁa’fusﬁ&, 5 78 fiRe oftw & amyr

|

#r

A F-8 1T A ygE Forear 3
a. IR aut s g
b. IR I3 o fwmt 7 T @
c. g @ g v shegnio
. T
e. 'FR’F‘TUT ' ‘
= Ru 1y faeat § @ waifas TG IA H
a’qq‘ ¥
(A) (b), (¢) 3R (d)
(B) g (b), (c), (d) 3R (e)

(©) (a)b), (c), (d) 3 (e)
DY"F3 (a), (b) 3R (c)
(E) Iaiayy

117 The amcﬁlt of Award money for Paralympic

Games 2634 (Summer and Winter) Silver Medal
winner ifthdia is:

Choose ¥ most appropriate answer from the
options given below:

(A) I98Lakh  (B) < 50Lakh

(C) 30 Lakh (D) <1 Crore

(E) Quéstion not attempted

WA § Feifiges @et 2024 (ofrsy 3R sfaemrefi) &
ToIA e fepetaT o fore qremm ufir @:
4 & gaifis 39gw W

 Xopemm (B) T somm@
) T sowmE D) T 1+

(E) o
ABC-A13]

O

25

24

119

120

118 Who among the following has never been (upto

September, 2024) the Chief Minister of

Rajasthan?
Choose the most appropriate answer from the
options given below: N

(A) Ashok Gehlot |

~ (B) Bhajan Lal Sharma
- (C). Bhairon Singh Shekhapvat

(D) Sachin Pilot .

(E) Question not attempjed
Freafafias & & 35 i (Faga, 2024 7) TSI
T A € @17

frefefaa frredt § & gatfas I9ge IR T
(A) T TR

(B) S oTet ¥l -

(C) ¥ fore SramEw 0

o afaT uee o\

(E) aia s N

The Amendment Act whiclgased the reservation
of seats for Anglo-Indiansn the Lok Sabha and
Legislative Assemblies:

Choose the most appropriate answer from the
options given below:

(A) 105%™ Amendment fyo

(B) 106 Amendment fpt

(C)  107™ Amendment fyef

(D) 104" Amendment Act

(E)  Question not attem

T i s e e e
ferurrenrait & et $feamd R et w1 s
o = e mr

Tt famedi § @ A TG ITG:
(A) 105 3 gt sferfyg

(B) 106 af Heu" sfufyR

(€) 107 3 weiver srfafypw
ADy—104 3 e rfufyay
(E) 3rgufta wa

m

The ratio of the average offéko numbers to one of
the numbers is 2 : 3. What is the ratio of the larger

. number to the smaller number?

ﬁﬁm%mm;§WMmm
2: 3 %) et v i SN e S e 2
(A) 5:1 BIuR:1 N
O3 (D)yr¥: 1

(E)  Question not attempfed / FARE Wy

‘3 [ Contd...
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122

123

124

\/

b
A LA

-

ABC

items?
;ﬁﬁ4wﬁ?550mﬁaawzw
() T 820 S 1 T TR T g 7 Shw
e FTR? '2:1.0%
e o 8962410
T 640 U 2
dc) Te620 j‘_.._,%
T 690
.g;)) ngstion not attempted / agﬂﬁ?rgg
_A13] @

a‘h: c
Al
Ifa:6=b:7=¢- 8, then what is the value of

20+3b ¢
b+c¢ ?

‘lﬁa 6=b:T7=c¢c: 8&'20""‘3!} C FUH

T b+e
(Ar)/

4
© 1 E
(E) Quesnon not attempted / Mﬂﬂﬂﬂﬁ .

In cattle digestion of cellulose occurs in-
Choose the most appropriate answer from the
options given below:
(A) Rumen

(C) Large intestine (D) Oesophagus

(E)  Question not attempted

apAT 3 Hepeiisr 1 uTe AT -

Frafafaa fapedt & & waffes sugw s
&y~ s (B) B

(C) wtanad (D) wEHH

(E) rgaf@ =

What is the HCF of two numbers if their LCM is
36 times their HCF and the product of the
numbers is 23047

3l EEATSAT T HEdW GHIEdS H1 8, AlS S
SO HIYSAH ST HEaH FTIadch I 36 TAT 8
YT ITHT O 2304 B2

(A) 8 B) 9

© 10 YOy 6

(E) Question not attempted / SR 94

Small intestine

(B)

Ankit bought 4 shirts at ¥ 550 each and 2 trousers
at T 820 each, what is the average cost of the

'2__ 2
/\{/‘q,.q-

25

6

125

126

o[SFU g

Gaddi shepherds belong to-

Choose the most appropriate answer from the

options given below:

(A) Himachal Pradesh

(B) Rajasthan

(C) +Maharashtra

(D) Uttarakhand _

(E) Question not attempted

T el () dary TEd -

frafafias et & Gaffams ITgw STCEH:
(B) TS # ﬂgu P
(C) mEwrgd ,@(

(D) SwEEH b

(E) raRaws

Which of the following is the pastoral community
of Rajasthan?

Choose the most appropriate answer from the
options given below: |

(A) Gaddi Shepherd

(B) Raikas

(C) Dhangars

(D) Gujjar Bakarwal

(E) Question not attempted

frefafa & & Fa-a1 TSeae F1 =R agEE
&

Frefeia forredt # & waffire sugw soT:
(A) TR

AT

et~}
AX I — 8
5Y




127 Match List-I with List-II. 130 Who presented the first scientific classification of

List-I List-II Rajasthan painting?
(Shepherd '?; (Belongs to) Choose the most appropriate ansgr from the
community) o)) options given below:
a. Raikas Ty I. Jammu Ii‘md Kashmir (A) W.H.Brown I:J ()
b. Dh:;.g;r: ) '_'II. Rajasthéu'j'] th (B) | Ananda Kentlsh Coomaraswai’
c. Gaddi Shepher III. Maharakhitta
d. Gujjar BakirwdD Iv. H:machal }r’rad:.sl; © - Knslma ]jas L . _
Hﬂ’f—laﬁmﬂfw‘l‘-ﬂ Eﬁﬁn{ ‘ (D) Vuay‘Kumal?;EE..hm|u@.»i.:f‘
!;ﬁ-l P !{‘_ﬂ_‘.“ e | (E),. Question qo,tattgr'qmed. Y o THE
o ToreTT e FT ToN agiie e e
‘ T e foaT T o
Presfefian fed 8 2 watfores gy SECE:
(A) F5 T3 F7=HA o
, _(B-)/ FATG HIeT FHTEATHT Ty
Choose the maost awprm:e answer from the (C) TEFIIH L
options given below; (D) foremr FHR (?]
ﬂ%ﬁqwﬁﬁﬁﬁ%?ﬁsmmgﬁ: (B) sof@wa o

a-ILb-IIL g=JV,d-1

(B) a-Lb-MLc-IV,d-TI N 131 In which city is the Haveli of th&jBachhawats
(C) a-NLb-ILc¥tv,d-1 <ituated? T
D), A58V b~ AL d-1 Choose the most appropriate ans%r from the
(E) Qucstlon not mmpted / SrgaRa g Dtions given below: =
128 In India the Wild@ife Protection Act was (A) Chitiorgaeh (B Siwar@
implemented in- () (C) Jaipur D) B
mﬁmmmmmm- (E) Question not attempted
Choose the most appropriate answer from the ST I Tl -8 e A R 27
options given below gyl mﬁﬁﬂﬁmw@mgﬁ
frafafs fasmedt & @raffas sugw s A) Femmw ®B)
(A) 1970 NBy—"1972 (©) AR _ga,/amam
© 1976 WD) 1968 E) seRaww
(E)  Question not slﬂmpted / FFAIE w4 0_
132 Whic ‘ i :
129 ::;lzgasthan Haansmwom in which part of the durinlg] }(;Zl:]’.:e following songs iz g]g by men
Cho}t;se the maost apporapriate answer from the Ch?ose tf1e most appropriate answer from the
. : options given below:
options given below: A) M
(A) Neck (B) Ear ayara Badhw
(C) Hands WD) Head (C)  Toran Rasia, -y
(E) Question not 4figmpted ' (E)  Question not attempted
ST 3 R 3 R T i el aeet et 27 Breft T et g -2 v T SR
forferfiaa foreheat & Fuge SO ﬁtﬁﬁﬁaﬁaﬁﬁﬁmﬁw:@miﬁr
Wy CYB) &M (A) = (B) T
() w™ Mp) fw () drwr (m/tmmo
sqfawy O (E) srafa sy

\BC-A13] & 27 [ Contd...
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133

¢ Or
7

Name the oldest fort situated on the banks of

1Y - M';\f'gq

—7,3'-".-__‘

:!u_s" N

A

136 The salary of Sidha.nt decrea.sed by 169 in N
river Ghaggar: year due to ;;‘:;55,:%1; :::lp;nm;::a flext \
) increased by 25%. 8¢ Chay, .
Ch?ose tFle Most appropriate answer from the the salary of Sidhant is: By
Options given below: (A) 7%Decrease (B) 7%1In
(A) AmerFort - B) Jaigarh Fort (C) 9%Increase (D) 5% Increase
(C)  Nahargarh Fort (D)  Bhatner fort (E) Question not attempted o
(E) " Question not attempted e 3 e o ad 3 g ?ﬂﬁ a.?ﬁ%] 6% Ry
g [ 0
mw%mmmm&mﬂ?—mh i “"éf' E‘? ;5’4’ WK "amﬂﬂz
ﬁaﬁcﬁﬁﬁmffasmgmwgﬁ: :f;m_’,%w' ®) ' 7%3fy
@A) R . ®) g e © 9%3fe D35 % fyg
©) TR ©r wefear (B) wrefays
(E) afmuy 137 . If the difference between 71% and 629, of
number is 81, what is 25% of the number?
134 Brahma Temple is located in which place of Toret T % 71% 39K 629% & 37 8 N3y
Choose the most appropriate answer from the Eé‘)) ;Zg g,-—ﬂ 5
OPtions given below: ~ Question not attempted / v
| (B) " Qu
(A)  Pushkar (B) Ai.wa: 138 When 111 is subtracted from a number, it redyge
(C)  Banswara (D)  Jaipur to 63% of itself. Then 20% of the number js;
(E)  Question not attempted : mmﬁélllmﬁwnmrﬁ 63% TR
ST A3 T ¥ ey @1 3 Ry 29 ® 3 T 20% ¥
ﬁn%ﬁaaﬁaﬁﬁ%mf&maugmmgﬁz (A) 555 ©—60
e ®) S © 42 D) 126
o A, (E)  Question not attempted / TR w1
( 7 E o = 139 Which of the following schemes provide heal
(E) Irgana insurance coverage to the entire population of
_ Rajasthan?
135 Who in Rajasthan is remembered as an icon of Choose the mosy appropriate answer from the
bravery, self-respect and sacrifice? options given below-
Choose the most appropriate answer from the (A)  Mukhyamantri Nishulk Dava Yojana
. ™ . (B)  Mukhyamantrj Nishulk Janch Yojana
ti ven below:
°p °nsMga'h s s Bingh (©) Mukhyamantri  Chiranjeevi ~Swastay
(A) arg) Bima Yojana
(B) ~ Rana Sanga (D) . Mukhyamantri Nishulk Nirogi Rajastha®
(C) Vijay Singh Rathore Yojana
i hore (E)  Question not attempted -
(D) Amar Singh Rat p
(E) Question not attempted - ¥ Py ST mpﬁ o
7 3 o g, ST TR 3w 3 ey Wiﬁ;}mmmm
et 36 & 3 1% ok s &7 (A) RS o
quim i i
HETTSIT TS , Bt fertefiett waresar iy dtemn
(2)) fizude & s e v (D) Tt firyyees it qropearry AT
( e ¥4 (E)  ryafmygs
(®) 3

27
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140 In Rajasthan under the Mukhyamantri Nishulk

Bijli Yojana (Domestic Subsidy) free electricity
(Zero bills) is provided to consumers whose
electricity consumption is units per
month. | o

Choose the most appropriate answer from the

‘dptions given below: 17 €
(A) 150 Units  (B) 200 Units
(©) 250Units (D) 100 Units

(E) Question not attempted

Terea # cqet Frges el deem (6
afsmd) ¥ aea 39 IS @ g fesreft (=
farer) wer Y St @ Rt e iz
wfemme 81

freferfian et 3 & waifirs suge SO

() 1503F@ @y 2007Fe
(©)' 2507FE (D) 1003

(E) A ys

The gland that secretes hormones as well as
enzyme in the human body and controls blood
sugar level is the:

Choose the most appropriate answer from the

options given below:

(A) Salivary gland (B) Adrenal gland
(C) Pancreas " (D) Liver
(E)  Question not attempted

uﬁﬁﬁugwﬁm&tﬁﬁﬁw%mmmsﬁm
mﬁn%aﬂtmﬂ?mﬁﬁaﬁﬂmﬁ%aﬁ
ﬁmﬁﬁa{-‘amﬁﬂmfﬁmwgﬁwai:
(A) wRuUM

®) e (g 1

Mm(ﬁﬁ‘mm)

aga (=0

u4q

(D)
(E)

‘III"'
e |

28
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142 Match List-I with List-IL

- List-1 List-IT

a. The special movement .  Peristalsis
of the muscles of
oesophagus

b. The first and the II.  Buccal cavity
smallest part of the
small intestine

c. The terminal end of  IIL Duodenum

the alimentary canal

d. The part of the IV. Rectum
alimentary canal in
which the mouth
opens
lﬁﬁ-lﬁ?m@-ﬂﬁﬂﬁaﬂﬁﬁﬁ'{l
-1 eIl
a. e HraEaRmE L ’;Fmijﬁl#
i fergr nfer
b. ST AT T dEAT @ Tl
wd BT T
c TR ATet % 3w N, mevft
d. FERATE 6 TE WIS V. A

E % A1 AT’
Choose the most appropriate answer from the

options given below:

o g e et F & watfs Iugw ST

M-I,b-ﬂl,c-w,d-ﬂ

(B) a-Lb-IV,c-1I,d-1I
(C) a-TLb-TV,c-1,d-1
(D) a-1,b-1c-11,d -1V
(E) Question not attempted / T T

[ Contd...



143 Recycling cani¥® done for:
ietal chihb
Medicaf‘ aste
Radioactj

a loac;tqe waste

Plastic hgt]es [

Choqse the i

e o o W

e XA R N |

_ Options given gow:

(A) (b)and(c)dﬁl)"ka‘, l 2 i -

(B
©
(D)
(E)

.

(a) and (d) only
(c) ande®) only
(a) andifo) only
Queslic: ot attempted

T o 1 ey 2
Wmﬁéﬂ

163t Aappropriate answer from the

144

which is cal[e"d_.irh.

Choose the ﬁqﬂ appropriate answer from the

options giverybglow: '

(A) Kall Vgaighak

(B) The Mango Showers
th

(C) Mava ‘t

(@) he Blg

(E) Questimm attempted

m Showers

yfta kg d THEH & Fo 9t § wrermmria

ABC -Al13] @

In the winter g:ison rainfall occurs in some parts
of Rajasthan Ai to the Mediterranean cyclones,

29

145

146

On which %!_h_g following parametars e
crossbreeding ) programmes  for
improvementwoultry are focu.sed on? .
a.  Num d quality of chicks.
b. Toler. to high temperature.
c.  High mgiptenance requirement. ff‘
d.  Increasprip the size of egg laying birds.
Choose the gyt appropriate answer frqr’r) the
options given below: ' "' " """ '
(A) (b)and (d)only -/ (B) (a)and (Bjonly
(€) (a), (b) and (d) only (D) (a) and (c) only
(E)  Questi#*not attempted

¥ TRIYIR & f G v Sy

Variety

(B) ( (b) (=
€7 FT (gy(b) 3 ()

(D) 3 (4§ (c)

(E) i ,

Some of the nyafor National parks and sanctuaries
of Rajasthan 3zé-

. a. Sitamata Sanctuary

b. Keoladeg National Parlq
C. Ranth, re National Park
d. Dudh

ational Park

Choose the mast appropriate answer from the
_ Options given below:

(A)  (b). (c}apd (d) only

(B)  (b) and[t) only

(©)  (a), (b} ahd (d) only

(D)  (a), (bfahd (c) only

(E)

Question not attempted '
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148

The highest amount of rainfall is recejved by
which of the following parts of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Western Rajasthan
(Bj Southem Rajasthan
(C) Northern Rajasthan
(D) Eastern Rajasthan

(E) Question not attempted 1
TR & -8 9T & Stfrmaw aet wiw g 2 r
- : ‘;\6\
ﬁﬂ%ﬁﬁﬁ?ﬁﬁﬁﬁmmm?ﬁ:g
(A) ufindt TS ) \\,fﬂ
(C) Ul TSEu= ‘ﬁ ;
(D) i TS \f‘{-'* | '
o \
(E) rgai@ s m .
AN, \.\5

Which is the only river in Rajasthan which flows
for all twelve months of the year?

Choose the most appropriate answer from the’

options given below:

Y’
(A) . Chambal . A
(B) Mahi W (9-
(C) Banganga l}"r
(D) Sabarmati
(E) Question not attempted

T - a1 A A 9
r
wedt 27

ﬁﬁqmﬁﬁﬁiﬂuﬂmmﬂi

L = l{a\- Bﬂl

® EoTy qf‘i;

(C) TR wt  ql

(D) W :1'[1; '\’E/Tf? :

(B) 3gafa s @%

ABC-A13] & q_)b Y \&'50 31

3
v

30

149 The average weight of a class of 33 students ig

J————

150

35 kg. If the weight of the class teacher and the
principal be included, then the average weight
increases by 1 kg. What is the average weight
(in kg) of the class teacher and the principal?

s % 33 Frenfelat wr shvea Foe 35 f 2
af oAt S AT % ae o s fear
ST Sivere e 1 BT ag S ) ST AR
e 51 i g (ﬁﬁmﬁ) %am%? 2%
(A) 5025 35 ‘

\P)ﬂis
© 597

D) 52

(’ " V"

(E)  Question not attempted / ST 94

In a class of 40 students, 45% are girls. The
average weight of the b;)ys is 48 kg and that of
the girls is 43 kg. What is the average weight
(in kg) of the whole class?

T & & 40 faenfiat # @ 45% =t & s==t
a1 sivee 7o 48 F o et sive T
.43 Form 1 ot we =t ofrea s (R ) w0

(A) 405 ka‘-i' =(@y3 =
WS . 22U =
(C) 48.8

(D) 4525

(E)

Question not attempted / 3G 4
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